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Mathematics 121/1,121/2
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Given further DF = tDA OF = sOE
i) Express OF in two ways.

ii) Hence find the values of S amd t.
Show that O, F and E are collinear.

2

. a) Complete the table below for the function y = 2x“ - 4x - 9 in range -4 <
x | -4 -3 -2 -1 0 1 2 3 4
y

b) On the grid provided draw the graph of y = 2x% - 4x -9
Use the graph in (b) above to solve the quadratic equations.

2%%-4%-9=0
2x2 6x-12=0

Determine the coordinates of the turning point of the curve by calculation.

S = t3-9t2 4 15¢t. Find:-
Where the particleisatt=1

At what time the particle is momentarily at rest.

The acceleration att = 2.

The maximum velocity attained by the particle.

SR

(3mks)
(3mks)
(2 mks)

(3 mks)

(3 mks)

(1 mk)

(2 mks)
(2 mks)

. A particle moves along a straight line OS, Such that its distance S meters from the point O at time t seconds is given by,

(2 mks)
(3 mks)
(3 mks)
(2 mks)

Using a ruler and a pair of compasses only. Construct triangle ABC in which AB = 7cm, BC = 6.5cm

and angle BAC = 600.
On the same side of AB as C.

Determine the locus of a point P such that angle APB = 600 and AP = 4cm.

Locate a point T on AB such that the angle ATC is 909. Hence calculate the area of triangle ABC.

(3 mks)

(4 mks)
(3mks)
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